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Q.No.1:-Answer the following questions.
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Data on the number of credit hours of 20.000 students at a public university enrolled in a Spring
semester were collected. Which of the following is the best for presenting the information?

a) A pie chart.

b) A Pareto chart.

¢) A stem-and-leaf display.

d) A contingency table.
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True or False: A Walmart store in a small town monitors customer complaints and organizes
these complaints into six distinct categories. Over the past year. suppose the company has
received 534 complaints. One possible graphical method for representing these data would be a
Pareto chart.
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According to the empirical rule. if the data form a "bell-shaped" normal distribution.
percent of the observations will be contained within 1 standard deviation around the arithmetic
mean.

a) 6826

b) 75.00

c) 88.89

d) 93.75
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Health care issues are receiving much attention in both academic and political arenas. A sociologist
recently conducted a survey of citizens over 60 years of age whose net worth is too high to qualify for
Medicaid. The ages of 25 senior citizens were as follows:

60 61 62 63 64 65 66 68 68 69 70 73 73

7475 76 76 81 81 8 8 8 89 90 92
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kalculale the arithmetic mean age of the senior citizens
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determine the median age of the senior citizens.
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determine the interquartile range of the ages of the senior citizens.
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what type of shape does the distribution of the sample appear to have?
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The estimation of the population average family expenditure on food based on the sample average
expenditure of 1.000 families is an example of

a) inferential statistics.

b) descriptive statistics.

¢) DCOVA framework.

d) operational definition.
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To monitor campus security. the campus police office is taking a survey of the number of
students in a parking lot each 30 minutes of a 24-hour period with the goal of determining when
patrols of the lot would serve the most students. If Y is the number of students in the lot each
period of time, then X is an example of

a) a categorical variable.

b) a discrete variable.

¢) acontinuous variable.

d) a statistic.
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Most colleges admit students based on their achievements in a number of different areas. The
grade obtained in senior level English. (A, B. C. D. or F) is an example of a variable.




